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A revenue-neutral Citizens Income.

The two tax systems shown here have the same top tax rate and the same net revenue.

In the flat tax system all income is taxed at the same rate and the Citizens Income is paid as a tax rebate or benefit to all adults regardless of other income.  The cost of the Citizens Income is met by the extra tax paid at the lower end of the income scale. Note that this is not just a tax increase for people with low incomes. A high income includes the full range of income on which tax is increased, a low income includes only part of it. 

For the UK system the tax rates and tax-free allowance of 2003-4 were used to calculate incomes after tax.

For both systems incomes before tax were estimated for each decile (income group) by dividing the average household “original income” by the average number of adults per household. These data for 2003-4 were obtained from www.statistics.gov.uk.

The only benefit included in these calculations was the adults’ Citizens Income in the incomes after tax in the flat tax system.  The Citizens Income would replace some other benefits, partially or completely, and the funding for these could be diverted to pay for a Citizens Income for children. 
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